=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 6520}

6342 63425 6343 6343.5 6344

cyclenum

delta46_12X4eY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

alpha4b_4ey4ay

6522

3521.5

6521

3520.5

6520

3519.5

6519

3518.5

6518

alpha46_4eY4aY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

segment:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6520}

P -
e e e eeeeamaenaaaaan .-

6342 6342.5 6343 6343.5 6344
cyclenum

usl_4eY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

usl_12X:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usl_sex

6522

3521.5

6521

3520.5

6520

5519.5

6519

5518.5

6518

usl_4eX:cyclenum {run == 6520}

[

6342 6342.5 6343 6343.5 6344
cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6520}

P -
e e e eeeeamaenaaaaan .-

6342 6342.5 6343 6343.5 6344
cyclenum

usr_4eY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

usr_12X:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usr_aex

6522

3521.5

6521

3520.5

6520

5519.5

6519

5518.5

6518

usr_4eX:cyclenum {run == 6520}

[

6342 6342.5 6343 6343.5 6344
cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum



usi_cont

usi_culo

=

0.5

=

usl_coill:cyclenum {run == 6520}

P -
e e e eeeeamaenaaaaan .-

6342 6342.5 6343 6343.5 6344
cyclenum

usl_coil6:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usl_cols

usl_coll/

[

0.5

usl_coil3:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

usl_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

[

usl_coll4

6522

3521.5

6521

3520.5

6520

5519.5

6519

5518.5

6518

usl_coil4:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum




usI_cont

usI_coio

usr_coill:cyclenum {run == 6520}

[
T

] SO S A A

6342 63425 6343 6343.5 6344

cyclenum

usr_coil6:cyclenum {run == 6520}

=

6342 6342.5 6343 6343.5 6344
cyclenum

[

usr_col3

0.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usr_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

usr_coll4
=

05

6522

3521.5

6521

3520.5

6520

5519.5

6519

5518.5

6518

usr_coil4:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum




1A_CONL

4EA_CUIL

1X_coill:cyclenum {run == 6520}

[
T

] SO S A A

6342 63425 6343 6343.5 6344

cyclenum

4eX_coill:cyclenum {run == 6520}

-
T

6342 6342.5 6343 6343.5 6344
cyclenum

1X_coll3

4eXx_colls

[

0.5

[

1X_coil3:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

4eX_coil3:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

1X_coll/

4eXx_coll/

[

05

[

1X_coil7:cyclenum {run == 6520}

P AR TR APENPIT IR
6342 63425 6343 63435 6344
cyclenum
4eX_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum




4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 6520}

[
T

] SO S A A

6342 63425 6343 6343.5 6344

cyclenum

4eY_coil4:cyclenum {run == 6520}

-
T

6342 6342.5 6343 6343.5 6344
cyclenum

4ay_collb

o
5]
(=]
>
[
<

[

0.5

[

4aY_coil6:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

4eY_coil6:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

4ay_coll/

4eY_coll/

[

05

[

4aY_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

4eY_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum




LZA_CunL

1ZA_CUNO

0.5

12X_coill:cyclenum {run == 6520}

=

6342 63425 6343 6343.5 6344

cyclenum

12X_coil6:cyclenum {run == 6520}

1

6342 6342.5 6343 6343.5 6344
cyclenum

12X_coil3
=

0.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

12X_coil7:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344

cyclenum

12X_coll4
=

05

6522

3521.5

6521

3520.5

6520

5519.5

6519

5518.5

6518

12X_coil4:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum

run:cyclenum {run == 6520}

6342 6342.5 6343 6343.5 6344
cyclenum
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